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Entry 2: Subtract 2-digit numbers Answers 

1.  46p 

2. 16 

3. Fill in the gaps below: 

39 - 5 = 34 

54 - 26 = 28 

55 - 43 = 12 

                                             76 - 64 = 8 

69 - 59 = 10 

                                            85 - 4 = 81 

4.  The second sentence is correct but the first one is not. 

If you have £24 and spend £4, you have £20 left. 

However, if you have £4 only and spend £24, you are 

then £20 overdraft. 

 

5.  35 – 4 (There are many other possible combinations. 

Use a calculator to check the result is 31). 

 


